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21. Why is the debate about whether men Directions (25-29) : In the following
arc Strﬂng“ %han women unclear ? questions, out of the four alternatives, select

() Beca both genders are equally the word nearest in meaning to the words
stro all aspects, given.

BE{:E.;&Q the word "str(]ng” may 25. Vitriolic

101217953004

TE]"; ;u: e y different things. _{a) Tmaginative (b) Sprightly
el ccawse men are al :
;H] than §gmen. e SRR (e} Vivacious (d) Abusive
&I;-j'j, ECCH Stl"ﬂngtll iﬂ unl}p mﬂ'asufﬂd 26. Cahﬂld
by p cal pdwer. &) Kind (b) Courteous
==, 22. ﬁ;:crr.lrdmg to the passage, men generally (c) Generous (d) Frank
N «cel at whieh of the followi ' :
- L . g B 27. Profane
e fa)’ Living ger. ]
- T a) Assert _{b) Benefit
J (b)) Tas iring precision. c e :
) e () Lengthen  (4) Desecrate
™ ﬁ] Liftinigl heavy objects and physical -
= labouel) 28. Interpolate
: 'éip Resistance to disease. =y Clarify (b) Investigate
- I 5 @at strength do women tend to have (o) Reverse (d) Tnsert
> | over mﬂn.%ﬁrﬂiﬂg'tﬁ. the passage ? j'. A
; Theyvere better at lifting heavy | = = o e
ﬂb;:: (NI (s} Asymim oS Hean
| ] 4 (o) Lowestpoint (d) Zenith
= | by They(live longer and have stronger | (c) Lowest po (d) Zemtr
| N msis’@:'ﬁ to disease. : n-h-ectiunn {30-34] 2
E They% strike forcefully. ' '1:4 .
Theyuare stronger in ph
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44. RBlood is a type of
(a) Epit tissue

(b) Mus@: tissue
(c) Nﬂﬂ'@ tissue

[‘(d]. Cﬂnrﬁﬁve tissue

44. %Qﬂ‘jmﬁ

mﬁ?&ﬁrﬁ 2
{b} ool Sad &
) afFeErEe &
(@) EASRAD ©
e s

.5 Lub-Dub/CSbund is produced

action of T
. ——

) A i
{2 Largé intestine
- =

:'dﬁﬂ tEl

46, TS MRS @ e Aemvee H e SR
W o 7

() T JMETHH

(b) WA FEETHHTE Ted
Mo A= e HAH AT

(@) amErd R e

47. Which one of the following associations
was founded in London by Dadabhai

Naoroji in 1866 7
(a) The Bengal British India Sumetjr

(b) The East India Association
(c) The British Indian Association
[d}' The Madras Natwt Assnmahun
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| 52. The ‘Basic '8
enunciated by
during the

samone the following is the
gpolIsiands of India ?

laman (b) Nicobar SR i o

en (d) Lakshadweep 53. Who among the followi

1 O

86 H ¥ B9 Ua ARG F member ol hc DA ,
_ s the Constitution of India pes
HdTeT gly—ve & 2 18 R
| (@) B.R. Ambedkar 8

i il (b) K.M. Munshi -G8

g 4 T

SRLE : \_9)/3 (c]  Krishnaswamy lyer

51. Which one among the following is not a | (d] M. K. Gandhi o

Fundamenta] Right under the
Constitution of India ? )

(a) Right to equality
(b)  Right to freedom
(c) Right to citizenship

(d)  Right against expioitation


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Pl ¥ ¥ W T AspaN
-
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(c) ‘QJT‘TTQ -fﬁ}gmq :

%’the tcanIS, ‘G’ stands for

‘f_%]_; G“"'E.‘@ (b) Geographic
EET.‘.* Gﬂn@s \ |~ Geological
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(o) Femmihs

leh

(d) Frreifrsa

[ 5o, What will BEXbtained by multiplying the

:_di%l'crﬂnce -obtained by subﬁgcﬁng 32.

ffom 9= By50?
DL A=
@ 2250

2540

(b) 2045
(d) 2450
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Two numbers are in the ratio 1 : 3. If
their sum is 240, then what 18 their
difference 7

(a) 120 (b)
() 100 (dy 96

o w13 @ wpw d ¥ Ak
T drThE 240 ®1, o R0 SR
fopa 8 7
(a) 120
(c) 100

108

(b) 108
(d) 96

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In huwmanydaya can
A alone do the remaining work ?

(@ 11 b) 13

(¢) 15 (@ 17

e T | A -

. [
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63. Simple interestioRys

equal to Y of princi

years is equal to\

the Pe1

q n ml: ’. 'I

N &
- Find the Compound interegy =
ger 125000 at 89 Per ann

: | when the in terest is P s
To,/ Her

ayable qys &
(b) Rs. 7608
from point 4 ¢, point B at O
of 4 kﬂ]/h and returns ﬂ"Dm !rcj Rs. 8652 ,

A at the Speed of g 64.

(a) Rs. 765]
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60.

24

5itti“g b
i Sitting immiédiate right to E. F is not at

oht end. LT
the “5 O\
Hpw many-persons are there to the right

_ 67.

68.

69.

pirection (66-69) : Read the following

, grn-laﬁﬂn CHET Efl—lll}' and answer the

spestions

given'below it :
i -
3o En £ [
gix I d\&_!"l B, e, D, E and F are

ing in @ row facing towards North. C is

etweenfAdand E. D is not at the end

(}fD e E.r_::’
(@) One (b) Two
o) Threc g (d) Four

Which of the following pairs is sitting to
one side O@?

o EESY (b) FC
o FE O d AC
i =

Who is sitting immediate left of C ?
y A E

TR

ic, B (@) (d) F

1l = |

(Who is at the right end ?

jo A (b) B

ﬁﬁ:«:—

(a) A

(c) B L

(a) A~
¢y E

Direction (70-72) :
information and answer

B is the mother 0
son D and a daughte

uncle of D.

70. Howis A related to D 7
(b) Nephew
Brother

(a) Cousin

(¢) Maternal Uncle (d)

. (a) Sister

Lc‘.} Niece
! Lha g .
72;, How many R

68, C @ SF AN TRH B 43T B 7

(b) E
(d) F

69, mﬁnﬁﬁmﬁﬂﬁa%?
(b) B
dy F

Read the following
the questions given

f A. C, B's sister. has &
r E. Fis the maternal

71, Howis E related of F ?
(b) Daughter

(d) Wife

ephews does F have ?
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I i T N ‘
|' is called :
} (a) Instructor ‘-*
|
; ] : In each of the a
P f#.a questions, find out how many such v
E. Of letters are there in the given word 4t 7
E8c o o !
mh 1 ljs'f which has as many letters between it C
ET M the word gs i1s/are between them in #
the English alphabet. ¢
—— II T
r3. NECESSARY
N (a One (i A
| o A (
3 | (b Two P 5
fﬁ! F‘U.r 77. Electronic components (
d) Fou : il
A used in first generation CQ‘P}’Ut S Were t
(a}] Magnetic drum | :
(b) Tw |
) 2 ’l (b) Transistor ™ |
d F - T
sl (d) Four | (c) Vacuum tubes Q\
| (d IC -
(a)

One | | Ie)
(b) Two | 77 T G @ dgey WHED e

(c) Three (d) Four | ST U Yaad oI of &
\fz—‘f‘cfw. (73-75) : F=fofed & & gog |' g gED -

W # fov o gt 3 0 B i g 1
‘, RS T 9O B O ey o |
& T &9 90 & a5 ¥ R o oy |
I H 9% dig 8y & | 78 A source program i§ dirget

(¢) Hafq <y (d)

73. NECESSA RY |
! (@) Compiler

| (c) Assem bler
c) @F (d) =R

(a) T (b) &I
(c) = (d) =R
75. ORIENTAL
(a) T
)
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O o Be er P SHEpy faam (€)  HTML CISIEY
( L) 83,
1 (a) ﬁﬂ'ﬂ%s) (B e EVcry. web page has an address
( A Associated with it. This address i
\ wﬂﬁtﬁn I:d] W tﬁ Friown o~ . address 15
0
b, which SN N ollowing comm 0 (8) URL 1o+ 1P
=1
a ﬂdd h}'&ﬂlmk in a dﬂtumenld?]s vaed ic) TCP (d) Browser
LG 83. :
=  CultE (b) Ctrl + e SR
(cl_ Ctl + B 3_‘\‘:1‘:4?:'[?5"; ....................... wEd B
— ap) (d) Ctrl+vy
=8 ‘u{ﬂ?_ﬂ"!ﬂ'fﬁﬁ'l _151( \ ﬁ ) URL (b) P
ke Bl ﬁ%qw BES P 7 H%ml?ﬁ ferg \c} TCP (@ FRTR
%\? g ' SNl 84. A popular protocol for sending e-mail is
(a) TCP b
o CLE] RREEE
uo H Abh Gk (c) sMmTP (d) HTML
Ctﬂc\? (d) Ctrl+v 84, T TETE
81. T.hﬂ type ok memory Whichsts Tast and &
: rempﬂr stores the data which ar -
1mmedlately fequited for et s caﬂﬂ; ey~ TCP (b) UDP
a8in o (c) SMTP (d) HTML
[.’E't}\‘il HDE {b] ROM 35- Mﬂcaddl'ﬂss 18 e S AT vy blt?a\jﬂﬂg-
{c;,J RAMYY (d) SED gt I ‘
' () 124 (d) 64
{4y ey @ ' e
85, AP (MAC) TR« g @1 | & |
(a) 24 (o) 48
C | o) 124 d) 64
(&7 HD[E () ROM N &
_ 86. Temporary storage area  that
(&) RAM™ (d) SSD compensates for differences in data rate
. y vgnttenm the and data flow between devices 1S known
. AS L yereenss
(a) Bus (b) Channel
(d) Buifer
UERY] 8 S ST i & 9
AR S TR B SRR B A
% T8 HEAT 8
(b) e
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g0 Which of the i
.;:perating syslerni

Rl acement

"rotocol

window to another is ca%a
(a) Task switching

(b) System call

{c) Tool bar 90. T& 39T famer @ E;ﬂé:tkanqq”

e Raa w1 &1 ufhar W < Gﬂ'cﬁ 3) .

88. ﬁ?ﬂﬂ?ﬁaaﬁgs‘fﬁgam?qmrﬁa 3

(a) NrTEFe fag
CINHEY

LIS
(d) T3 Frey

|

|

(c) Moving L I‘
({d] None of these 1|

“(a) < R <t
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